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3. Revenue Let R(7) be the monthly revenue (in thousands
of dollars) of a restaurant ¢ months after the restaurant
opened. If R(6) = 154.2 and R(9) = 179.7, compute the
average rate of change for 6 < t < 9. What does your
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Over the three month period 6-9 months after opening, the restaurant’s monthly revenue
increaged by $8,500 per month, on average.

The graph of fis given.
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45. The graph of the derivative f' of a function f is given.
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(a) On what intervals is f increasing or decreasing? Qa.
(b) At what values of x does f have a local maximum or _ _
minimum? DecleAs D0 ( @, ?'\ v (017'\
(¢) Where is f concave upward or downward? \)
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46. The figure shows the graphs of f, f’, and f”. Identify
each curve, and explain your choices.
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